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Paper-I11

PAPER -11
GENERAL STUDIES & GENERAL KNOWLEDGE
(Total 200 Marks)
(Total 39 Question)
Unit-1 (65 Marks)
(qﬁa — 1) (65 3i®)
Part—- A Marks : 10

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries

2 marks.
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1. Explain the role of the concept of ‘sthit pragya’ in the discharge of administrative |
responsibility.
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i|2. What teachings of Buddha are most relevant today and why?
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3.  What do you understand by ethical dilemma?
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4. ~ Explain the relevance of ethical idea of ‘Rina’ in the administrative life.
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5. What way *detachment theory’ of Bhagvad Geeta is s1gmﬁcant in “the life of

administrator?
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Part—-B Marks : 25

_ AT — ¢ g %P : 25

Note: ?tteml_ft all questions. Answer the following questions in 50 words each. Each question carries
marks
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6.  ‘Men’s Moral Advancement depends upon complete advancement of society.” Discuss,
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7.  “Family is the most important institution for the moral development of man”. Evaluate this
statement,
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8.  Explain the Kant’s ultimate good on the basis of relative and categ
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9. What are generally considered to be the minimum basic needs of an individual to lead
healthy and productive life? What is the administrators responsibility in ensuring thes

minimums?

' AR WR U W AN SiEE maqqﬁ%%%qwﬁﬁﬁmjmgﬁmﬁmww

Tnﬂ%?gﬂqaﬁﬂzﬁrgﬁrﬁaa P H U TENE B T REER 87 .
AV (7 © 5 T T 133 W 3 ),

-ufmi A

=R (), MI]" STTH, e, ’@TWW‘”

Wﬁ S‘l:?‘ﬁ"ﬂ_l?‘:]am’“ &) T

4 ,‘,

A APTIPT ) GO TRIR. SR]™ <[aT vr\fc%ﬂ%ﬂmr

STAY ST G #17] - T ey (R3] 517 213,

§.25(Zeroa)
r(dp Unit-1-B-9)

il *"";‘mﬁ?ﬂ !«'WW}‘ZWW@W

| TR 9% T ﬁ“ﬁfw,"i{w‘bw"‘ 3’— 5T ﬁ?ﬁT—@-)

2.5(Two’2)

(Q.Unit-I-B-8)

2.5(Two72)

(Q.Unit-I-B-9)



e

Paper-11

9 HIIHIl\IHIIII

i

I\Ili

on/.mi ﬂ'Fl' mﬁﬁl‘ ’\\5“7\” 537 Eﬁi";?ﬁﬁcr )

73 60 g Th] Gore vy s ey |

W /'S?TT\"E

10 What are the core ethical values required for excellence in civil service? m la A ’iev

@mﬁqlﬂﬁﬁqwmﬁﬁquﬁﬁm@?ﬁﬂﬁ?

RRad Avamhy S dpfim &

nrrm HYS 5 NevF %%T% Y =D o7

YRR N 467) 5} FaTgy -

) IRy - IS ﬁrmﬁ;ﬁzﬁ WIS YRy ry e

@) Sty ~ S &) (77) o STOF) A o] T 97

°

IREEN A ~ W@Y W W?&")W!TWWT ORIy

@ S

T RS ﬁﬁfﬂ/m ey ’rvrﬁrm'm 3 cyrﬁggcm;wmq

&)

Freerels) - GG # aT o7 3 \er@;cry@ﬂmﬁv

() TCd (T0eAT WWV?WWWWWVTWW?&@

Y Aq 109 -~ T3 IG5 &) U3 7] rf‘rﬁ/twrg—) 1)

95 HINI IR HUWF‘T s“v:r o Jd e?m“ﬂ;,—

SR PR, ST S ST ] ST 6) T eréﬂo{w??’r

SEny

T H T S ® mmrw’"‘,r RS &

" -

Not

Part — C Marks : 30
qRT — < 3w ; 30

e: Attempt all questions. Answer the following questions in 100 words each. Each question carries
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11.

Necesaarﬂy related, means cannot be separated from ends. Therefore, both must be ausplcmus |

for real and lasting success.” Explain the above comment in the context of Gandhian ethics.
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13. “Each other’s success teaches a
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Unit - 11 (70 Marks)

(Qﬁ'c.' — II) (70 ai®)
Part- A ’ _— Marks : 10
AT — : 3w : 10

Note: Attempt all questions, Answer the following questions in 15 words each. Each question carries
- 2marks. -
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12 Explain the role of calcium carbide in the artificial ripening of fruits.

1. D1fferent1ate between nuclear fission and fusion.
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3. Whatisan OTT platform"
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4.  What is the basic concept of operation of RFID? G1ve two a;}%pg;atlon of this tecihnology
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5. What is the difference between Polar Satelhte launch vehicle and Geosynchronous Satelll '
launich vehicle?
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|e. Write any five benefits of the medicinal plant GuduchllGaloy
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_ Part—B Marks
N[ — g arcﬁ 20

Attempt all questlons Answer the following questions in 50 words each Each question carries
5 marks.
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7 What is nyptocurrellc}’? ‘What are its advantages and dlsadvantages?
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8.  What are the differences between the previous generations of m0b1le networks and 5€ -
Network?
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trategic System (MSS). Name the laboratories whlc" '
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Part-C . | Marks : 40
U — ¥ 3w : 40

Note Attempt all questions. Answer the following questions in 100 words each. Each ques’tion carries

10 marks.
- W : wﬁmﬁﬁélﬁﬂuﬁfﬁrwmo 1003raa‘rfré|u—cﬁzsm$mwﬁafﬁa'

10. (a)

4 ®
(©) G1ve an example of each —
. () ' Artificial sweeteners
(ii) Food preservatives
(a) %%egiz%cwﬁmﬁﬁﬁﬁ?ﬁﬁﬂhﬁmmg?
(b) WW%W@?W@WWI
© vE B SaER Il —
() P TERD
(i) @l HYETH
) @ @ TR

Which property of carbon is responmble for formation of large number of compounds?
Write domestic and industrial appl1cat10ns of carbon compounds.
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11. Des bthfu mgfthhm n eye and explain any one of the refractive defects of v
and orrec I
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. Ct value’ in RT-PC or Covid —19? |
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| 13. -Mention the contribution of the following Indian Scien'tist; -
(i) Homi Jehangir Bhabha (ii) Sir Mokshagundam Visvesvaraya
(iii) Satyendra Nath Bose (iv) Meghnad Saha (v) Har Gobind Khorana
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2.  Write about the structure of Sial.
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- Write the zinc producing areas of Rajasthan. .- -
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7.  Discuss in brief the geographical features of Rocky Mountain range.
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8.  Discuss the geographical characteristics of Troplcal evergreen forest of India.
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9.  Discuss the physical features of Hadoti plateau of Rajasthan.
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11. Describe the problems of Geopolitics in context of South East Asian countries.
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' Describe the development of non-conventional energy in Rajasthan
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